e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




ROVER

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

(XP) 1990-1998
|
RO-11104 RO-12101
Ball Joint Tie Rod End
Front Front Outer
Only:Metro 155TIRES M12x1,25Rht
GSJ269 GSJ733
|
RO-12111 RO-11103
TieRod End  Ball Joint Lo
Front Front Lower
(GTA-GTI-GTI16V) M12x1,25Rht D=@17mm
GSJ732 GSJ729
RO-16125 RO-16126
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
GSJ416 GSJ415
RO-16125N RO-16126N

A
4
5P

GSJ416 GSJ415
RO-20192 RO-20157
Control Arm Bushing Control Arm Bushing
Lower Front Inner
RBX10026 RBX10025
(RF) 1990-2000
|
RO-20158 RO-14202
"x@ Control Arm Bushing Stabilizer Link
Front Right Lower Inner Front H
RGP1673 ~ L=66mm
EGP1662
|
RO-13203 RO-23201203
Axial Joint Steering Tie Rod Assembly
.__m_. Front Front i
M14x1,5-L=304mm GSV1170
GSV1170

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



ROVER

1990-2000

(RF)
RO-12201 RO-16205
Tie Rod End Suspension Control Arm and Ball Joint

Assembly

'}

Front
M14x1,5Rht Front Right Lower
GSJ288 RBJ100781
RO-16206
Suspension Control Arm and Ball Joint
a Assembly
- Front Left
RBJ100791
200 (XH) 1985-1990
|
RO-12221
@ Tie Rod End
Front
M12x1,25Rht
GSJ281
25 (RF) 1999-2005
|
RO-12201 RO-16205
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front o ey
M14x1,5Rht Front Right Lower : - :
GSJ288 RBJ100781
|
RO-23201203 RO-13203
Steering Tie Rod Assembly Axial Joint
Front Front = —g
GSV1170 M14x1,5-L=304mm
GSV1170
|
RO-16206 RO-14202
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left L=66mm
RBJ100791 EGP1662
|
RO-20158

Control Arm Bushing
Front Right Lower Inner

RGP1673

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

400

(RT)

ROVER

1995-2000

HO-20237

— Control Arm Bushing

HO-16235

Suspension Control Arm and Ball Joint
Assembly

$=i
Lower Rear
Front Right Upper
RBX100670 o
51450SR3A02 '
HO-16236 RO-14202
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Upper L=66mm
51460SR3A02 EGP1662
|
RO-12401 RO-12402
Tie Rod End Tie Rod End
o Front Right Front Left
= d M14x1,5Rht M14x1,5Rht
GSJ1169 GSJ1170
|
HO-13214 HO-20238
Axial Joint Control Arm Bushing
= ' Front Lower Center
Only:EuroCivic M14x1,5L=163mm 51810SH3004
|
RO-13213 RO-11204
Axial Joint Ball Joint
—:° Front Front Lower
Only:400Series M14x1.5-L=137mm Only:2.0lt.
53010SR3010 RBK100380
400 (XW) 1989-1995
| |
RO-13203 RO-23201203
Axial Joint Steering Tie Rod Assembly
=l Front Front i
M14x1,5-L=304mm GSV1170
GSV1170
| |
- RO-12201 RO-16206
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front D)
M14x1,5Rht ~ FrontLeft ' )

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6

info@parsrot.com



Rot sy

== Land ROVER
400 (XW) 1989-1995
RO-16205 RO-20158
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
* Front Right Lower Inner
- Front Right Lower
RGP1673
RBJ100781
45 (RT)
HO-20238 HO-20237
Control Arm Bushing Control Arm Bushing
Lower Center Lower Rear
51810SH3004 RBX100670
HO-16236 HO-16235
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper

Front Right Upper

51460SR3A02 51450SR3A02
HO-13214 RO-12402
Axial Joint Tie Rod End
Front Front Left
Only:EuroCivic M14x1,5L=163mm M14x1,5Rht
GSJ1170
RO-12401 RO-14202
Tie Rod End Stabilizer Link
Front Right Front
M14x1,5Rht L=66mm
GSJ1169 EGP1662
(RH) 1993-1999
HO-11303 HO-12302
Ball Joint Tie Rod End
Front Lower Front Left
51220SMm4013  M14xT.5Rnt
GSJ407
HO-12301 HO-11213
Tie Rod End Ball Joint
Front Right Front Upper
MI4XT.SRNE 54220584A02
GSJ408

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land ROVER
600 (RH) 1993-1999
HO-19306 HO-19307
N Lateral Arm Lateral Arm
' Rear Right Upper Rear Left Upper
52390SM5A03 52400SM5A03
|
HO-20236 HO-20235
et Control Arm Bushing Control Arm Bushing
! Lower Center Rear Lower
51810SM4013 51393SN7003
|
RO-11413 RO-16414
P Ball Joint Suspension Control Arm and Ball Joint
'\ Assembly
| 1 Front
/ Front Right Upper :
R 51450SM4023
| |
RO-16415
Suspension Control Arm and Ball Joint
Assembly
: Front Left Upper
51460SM4023
75 (RJ) 1999-2005
|
RO-18806K RO-18807K
Suspension Control Arm Kit Suspension Control Arm Kit
Front Right Front Left Lower
CompleteKit CompleteKit
RBJ00370 GSJ1190
RO-14810 RO-14811
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=105mm L=105mm
RGD100561 RGD100571
RO-14812 RO0-12801
Stabilizer Link Tie Rod End
-« 'S Front Front Right
L=333,5mm-L=309mm M14x1,5Rht
RBM100240 QJB100180

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

75

ROVER
(RJ) 1999-2005
|
RO-12802 RO-16806
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left \
M14x1,5Rht Front Right Lower N —
Lower — ,-—r“'“ -
0JB100190
RBJ00370
|
RO-16807 RO-20393
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Inner
Front Left
Lower RGD100571
GSJ1190
|
RO-20496 RO-20497
Control Arm Bushing Control Arm Bushing
Right Left
RBX101760 RBX101770
(XS) 1986-1999
|
RO-11304 RO-13303
Ball Joint Axial Joint
Front Lower Front _c‘==ﬁ
GSJ295 M12x1,25Rht-L=132mm
GSV1068
|
RO-12301 RO-12302
Tie Rod End Tie Rod End -
Front Right Front Left V
M1x1,25 M1x1,25
GSJ279 GSJ280
1972-2000
|
RO-12701 RO-12702
Tie Rod End Tie Rod End
Front Outer Front Inner
M18x1,5Rht M18x1,5Lht
JHM2168 JHM2167
|
RO-11704 RO-11705
Ball Joint Ball Joint
Front Front Lower
Ch.66663-> 602673
602672

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land ROVER
LONDON TAXI TAXI 1972-2000
|
- RO-11706
Ball Joint
Front
Ch->66662
BJA207
LONDON TAXI TAXI 2000-2007
|
RO-17707 RO-17708
Pam Steering Center Link Steering Center Link
'I | “' Front Front
1184000198 1184000197
RO-11714 RO-11715
Ball Joint Ball Joint
) ﬂ_,ﬁ Right Front Left Lower
N ] 1X604154 1X604153
|
RO-14700
P Stabilizer Link
& \ Front
L=90mm
1184000173
MAESTRO-MONTEGO 1983-1994
|
RO-12601
Tie Rod End
Front
M12x1,25Rht
NAM3039
1980-1990
|
RO-12501 RO-11504 -
Tie Rod End Ball Joint § ;";.
Front Front :
UNF 1/2"x20Rht GSJ268
GSJ186

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rof
= [and ROVER
METRO 1980-1990
|
RO-11114
Ball Joint
Front Lower
L=104.5mm
FAM9594
1990-1994

RO-11104 RO-11103
Ball Joint Ball Joint

Front Front Lower
Only:Metro D=@17mm

GSJ269 GSJ729

v

1990-1998

RO-12501 RO-11114

Tie Rod End Ball Joint

Front Front Lower
UNF 1/2"x20Rht L=104.5mm
GSJ186 FAM9594

-

MG 1961-1979
] I
RO-12171
N Tie Rod End
‘I Front
1962-1981
|
RO-12161
Tie Rod End
Front
UNF 9/16"x18Rht
GSJ479
SPORT 1995-2002

RO-12151 RO-11623
Tie Rod End Ball Joint

Front Right
M12x1,25Rht LowerD=@17mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

GSJ732 11 GSJ498

info rsrot.com



A
&’Lana’ ROVER

SPORT 1995-2002

RO-11624 RO-16628

Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Left Lower

LowerD=@17mm Front Right Lower
GSJ497 RBJ101060

RO-16629 RO-16628N

Suspension Control Arm and Ball Joint Suspension Control Arm

Assembly
Front Right Lower

RBJ101060

Front Left Lower

RBJ101070

RO-16629N RO-20192

Suspension Control Arm Control Arm Bushing
Front Left Lower Lower

RBJ101070 RBX10026

b b

RO-20157

Control Arm Bushing
Front Inner

RBX10025

MINI-MINIVAN-PICKUP 1967-1993

RO-12100 RO-11115
Tie Rod End Ball Joint

Front Front Rear
1/2"x20Rht L=69.2mm

GSJ734 GSvV1118

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 12 info@parsrot.com






